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Answer either in English or in Assamese.

1. Answer the following questions as directed :
(any ten) 1x10=10

i SRR ST TS O i ¢ (Rizeieatt 1051)
(i) Define a diagonal matrix.

o CTerRee kel forlt|

Contd.




(W) Find the value of x, if

x-9 WF [fy =1, 37
4 5
x 9'=_4

(i) If @MW) f(x)=2x*+3x+2, find the
value of f(-3), (C9C3 f(-3) T ff ) |

(iv) Evaluate (37 37 1) ¢

3
1
=5

(v) Define a sinking fund.
o1 I ffer vewt oy

(vi) éO% profit on S.P. = % profit
i : rofit on
(Fill in the blank)
RewrpEme eome 10% e = T Goiaw
: G

R g (1T 3% 777 )

(vii) Write True or False -
] (o ey %[‘{n 2
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‘

@ (viii) Define trade discount.

AR e TR i |

(ix) If a is the first term and d is the
common difference of an A.P. series,
then the nth term is .

(Fill in the blank)

I B! TG T AL AN q T A AL

TGS d 2T, n O 2 2’q|
(3Tt 12 939 1)

(x) Find the cofactor of —1 in the following
determinant :

oo e —1-3 A fe e

R ES)
S ol
=44 o

(xi) What is the difference between simple
interest and compound interest?

S S O bea e Al e

(xii) Find the fourth proportional to 9m, 17m
and < 36.
Om, 17m I % 369 b FIGANSCH! [efa
40| -
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(i) Define ‘objective function’ associated

with linear programming,

GRT 2R 17 G wiees oy e

forait |

e
(av) Ex—(TC) =

» Where x denotes the
volume of output.

(Fill in the blank)

—d_('rc)= ;
= , T x4 Teslifre dg
AR ez (71 912 7459 7))
d
fow) — x*+5 =7
2. Answer the following questions : (any Sive)
. g ve,
2x5=1
O Rt 551 e Tew oy o ;
(i) If (3W)
2 @)l 8
gl 4 -2
A~628,B=0—2 O [
i LT , find
the matrix 34+ 2R,
m3A+2Bcﬁﬂwmﬁ=ﬁrw|

4 (Sem-4/CBCS) HC2 (BMT)/G 4

G 1@ =17,

then find f {f(x)}
ot £ {f(x)} el =

(iij) Which term of the series 10,4,-2,-38,

... 1s =104°7?
W8, A== e ETOR EHE! 2
B0

(iv) Find the compound ratio of the
following :

T TPISERS PR ST e <= ¢
PAA &Y (SR TSR
(v) The ratio between two numbers is 2 : 7.
If each of them is increased by 14, the
ratio between the new numbers

obtained become 4 : 7. Find the original
numbers.

1 TR AT 2 2 7 | AfOU! TR =TT 14
@IS TR (oAl e A OIS A A4 1 7 |
ol TR o TR e

(vi) Define (K@ ) :
(@) Immediate annuity
erors AR
(b) Perpetual annuity
et AR

4 (Sem-4/CBCS) HC2 BMT)/G 5 Contd.



(vii) Mr. X bought a cycle for 32,000 and (@

S(?ld it for ¥ 1,800 due to so
Find his profi

me damage.
t or loss per cent.

Mr. X-9 ey 5]%(3}?[ 3 2,000 %ﬁ & &l

(Rl AT 2 1,800% e s, coex #je i
CFIIFOIT =Sl 29 efiy <5y |

(vit)) At what .rate of simple interest per
conetbaeil vl L S000) (o beters the same

interest in 5 year
i Sas¥3,1
In 3 years at 4% per annuzrj gproduce

ﬁswwwlﬁoows .

3,125 5919 IR 49
H OW
Teq I 272 o9 2F© 3 A

following .

- 5x4= .
T R 451 o e fa DD

(i) If (IW)

A:[hé ﬂ B:[O 1}
1880
show that (ciyeqr )

(A+B)? % A2 +2AB 4 g2
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(i) Solve (TILH F) :

=0

—- o
% =

X
1
1

(iii) 1f x, y, z be the pth, gth and rth term
respectively of an A.P., then prove
that

W x, y, z TREAE O T @I p O,
g S N A 2, AN I @

x(g-r)+ylr-p)+z(p-q)=0

(iv) Insert5 geometric mean between 9 and

576.
9 W 576-9 TS 561 GTNGT T4 AILS
4l |

(v) Discuss the basic assumptions of
linear programming.

aRe dEeE T ARAPTR Sl 51|

(vi) Compound interest for 2nd year on a
certain sum at 4% per annum is 2 25.
Find the C.I. for 3rd year.

TR 4% oI TS (I P FoT To7
e 7S 25 B 20, PO T b 1o
et 2
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(i) Dinesh finished 2th of the work in ? (IR A RS TS Al AP (R
9 days Y 9 S
il o ihe remaining work he
of Rajeev. Fi Zys_ with the assistance S 2= S
- *Md 1n how many days 2x-3y—-z=-3 7
x+2y+z=4 S

Rajeev alone can finish it

AT <ot <prarg 2
FBE £ WW9WW‘1’WW (b) Prove that (&9 ¥ () :

WWW o ,
(9€ SRR |
| AR ] s P A 4 fre oo g e
R IRER: %W%q@mqsﬁq ' ahy libie =l+a+b+c 3
‘ a b l+c
(viii) P
) Prove that (2 7= @) - (c) Evaluate (¥ R[efm 710 -
lim %21 2 -3| |-1 -2 s
S By S 4 77| 4 -6
OR / 723t 5. (a) Construct a 3 x 2 matrix such that
Evaluate (3 Bl 3 x 2 G 5157 T T AR
ﬁcﬁW)g a:—-—-31 2
h‘m% | T
x—=0
X
2 3
A=
(b) 1If (3M) [3 5],

then show that (0% &9 )

Answer any four '
questions from ¢he Jollowing :
A2 =TA-1I

wﬁmfmwﬁzwwmm %Vf%wmm=4o

4.
(a) 1?olve the following
y Cramer’s ryje . yStem of equation

where (T9) I=[1 0} 3
0) il
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(c A
) man buys 8§ dozen of mangoes

(b)

218
gi ! per dozen, 10 dozen of apples
per dozen and 4 dozen of bananas

@ <6
A aozens Represent the

i ght by row ’
all‘;cis by column L o andmatrlx and
otal cost. trix hence find

TG e FRgtners: 3
A (ETNS 5t ﬁﬁﬁm A
SIS (419 22 (15FeT 54 1<

Find the v
alue of f
Sk- 1% 14k+2 are insgcg that 3k-17,
k3 & s i -
Tl R 3k-7 5
TeT e g, O L 14k+2
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(c)

(b)
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If'a, b, c are in A.P. and x, Yy, Z are in
G.P., prove that

I a, b, c TG ETC TR AF X, Y, 2
@dfed (Wite g, dd Fu @

a=DE 1 5

xb-c yc—a z

The compound interest and simple
interest on a certain sum of money at
a certain rate for 2 years arc
respectively at ¥ 920.95 and % 900. Find
the rate and the sum. )
@I SR @i FiRE TN WO 2 =W
s S e O Pl 920.95 Tl S
900 Tl | F[eF TN e Teiee Fefr 0

A person sells 4% stock of 217,500
and invests the proceeds in 3% stock

at 74%. If his income increases by
5 17.50, find the selling price of 4%
stock (brokerage being %—% in each

case).

5
& NEE (964 17,500 BFE 4% s i@
3R (AR o 74% waq 3% BFe WA | M

963 oI 17.50 TR Jfa AR, (SERTET 4%
e 0 Wi e R (BT CRE©

i 29 £%) |
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8. (a) A true di
is % 1eocci,lgcount on a bill of 1,01,000 @ T R B AN el 5% e e SR |
0,
days ;arior ?:) fh/g z'i‘ Find how many | M TS ANIO! 5% FAO G 3R 37
the bill discounteq, | - O - | #f201 0 e <R &oo éﬂc:s@a g.)c;/: QIS
i,gébo%%m‘lﬁ%wamm%ﬁ S T (30 | FARENOR &AFe ol 7 =4 |
ﬁ’ | 3% o3 77 59 [ SETE () In mixing two types of tea, 2% is
RpT "fﬁt‘ﬁﬁ@ﬁvﬁ : wasted. In what ratio tea costing
SR CafRe TP i e .
y ’ 260 per kg be mixed with tea costing
(b) Define (k= fapay) - %45 per kg so that by selling the
() Dividends 1+1=2 mixture at0i62.50 a};er fcclg, there is a
TS gain of 25% on total outlay. S
(i) Mark 7RY BIZAeT i TS 2% 2P R &
i ¢t value of a ghare R 60 B T brReted 7S 2 % 45
NARELR G | Sl T DrelS & oepies fed SReE @S
() Which is a bettey T & it vzl 62.50 Tore [ FReE
stouls at'gn o 1 vestment — 4% - G O el rRSiAB T SR P AN Refa
82 ;
T{ 4% %W%Wz;lcy -
(RTBIS e Rz 2 |
R ASGa i e
?3? 10, (@) If (@) f(x)-;,
9. (a) A person bu |
ys an a_rt' { m
LT
and sold it fi a 0 [
h or . pgq
€ would have gaineq 133 paisa less, f(p)-rl@=71 ( = ] 2
original cost price, %. Find the | q-p
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e,

(b) Examine the :
cont i :
function at x=3 l-nu1ty of the following
v 3

xZS-EW@m’JW
N TR Sl

2

X~ =9 )
fl)={ x—3> Hx=3
(c) Find the
(i) avera
g€ reveny A
(i) ¢ function (AR), and

14

|
|
0
|

1Lk
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(@)

(b)

(@)

(b)

1
Find the differential co-efficient of -x—2

using first principle. 5

1
g2 7 TR IR —5 T = @S e

9|
Find the maximum and minimum
values of 2x3 —9x%+12x-1 5

2x3 —9x% +12x-1-3 SRy SF ARD T
Refm w4l |

Integrate (STIFE 1) : 2+3=5

@ [@x+ 2)? dx

A ]-x3+5x2—4x+2dx
(i) 52

Evaluate (3 ) ¢ 25t 2-% =5

0 f(x2+ix+5]dx
1
[ (e
(ii) [ x+-—-—)
1) 1 AJ'J?
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13. (a) Solve any one of the following LPP ®

graphically : 6
o fRCPICeT! @b (AR elgEel I (R
SIGioCs L T4 3
(i) Maximize Z =6x+7y
siffe A [k =
subject to (o5 TG AATH) 3
2x+3y <12
2x+y =8
xYy=20
(ii) Minimise Z =3x+2y
Jrox T [T w1
subject to (OFR Tg AATF) ¢
Sx+y =10
X+y=26
X+4y =212
xX,y=20
(b) Write a short note on : (any one) 4
izt @b1F & GORe forait ¢
(i) Linear Programming Problem
RS A@d TP
(ii) Application of LPP in Business
Fifdere @RS dFeF
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